MCJT ZALiER RS

EE (CRR) wmEREL mindman
HRE
g MCJT-3*
fEE) 5 X EENEY / FHE R 5] A HEh R
ST 9% (mm) 12 |16 [20 | 25 32 [40 ] 50 63 | 80 100
i 2 1R R M5x 0.8 PT1/8 | PT1/4 | PT3/8
135 A i AE EES
o | M | 0.5~9.9 ] 0.3~9.9 0.2~9.9
kgflem’ wH [2.0~99[15~99] 1099 |
ifit & 7 15kgf/cm’
JE R —5C~+60C (i)
T JHE B RCB, RCE, RCE1
A THEACIR
MCJT—32— 40 — 10X 25(M)
gk TEIPOE M : iR
3: LrEAE 1TIE1 X 17822
FE BT . Y i
P2 ¢ fAF R AR TR
|— SREL L 712 (mm) e RATHR CRIRE)
frmns=t 4% 612,16 5,10, 15, 20, 25, 30 300
i § JL i
gt ik ek $20,2532 | 5 49 15, 20, 25, 30, 35, 40, 45, 50 300
31| BT | mmas (L
$80~100 | 5,10, 15, 20, 25, 30, 35, 40, 45, 50 125
s|2| [ | wmny © e R R AR
— o I TR N
35| [Mbadla= | smtimmsis o (1 ;BT
36| [EEFF | s iz e

BREHR—PHEr TR R

SRL 72 (mm)
$12, 16, 20, 25, 32, 40 5,10

¢ 50 10, 20




MCJIT ZALERY padtshss &1 2%k

HE (CaR) JEEREL

)l

mindman

%??@???

®\?

[
1]
|
|
|
|
i
i
|
1

®\?

|

EF BT R IR — B SR TEZME
y T PR s y
= Bl e ﬂg;; ﬁ;;; wH| mp~Y% 12|16 | 20| 25| 32| 40 | 50 | 63 | 80 |100
d d d d

w5t | EBHE | A | @B | HEH wEHn | e . rye

arv.] 2 ! 2 2 4 2 2 | AmCHmE W

12 [ksYrR6 |ksYR-6 | oPa-12 | oPa-12 | s-12 daxwi poa

16 |KSYR-8 |ksYR-8 | opa-16 | opa-16 | s-14 daxwi 3 | ALEER S NBR

20 |KSYR-10A|KSYR-10A| OPA-20 | OPA-20 S-18 d6 x w1 4 | fREE R = NBR

25 |KSYR-12 |[KSYR-12 | OPA-25 | OPA25 | S-22 d8 x w1 5 | yEaesp NBR

32 |KSYR-16 |KSYR-16 | OPA-32 | OPA-32 | d28xw2 S-9 AT NBR

40 [KSYR-16 |KSYR-16 | OPA-40 | OPA-40 | S-36 S-9 - —

50 |KSYR-20 |KSYR-20 | OPA-50 | OPA-50 | AS-31 S-16 7| i ma®

63 |KSYR-20 — OPA-63 — AS-36 S-16 8 | i ZE [ MRk 4448 SCM

80 |ORA-25 — OPA-80 — AS-41 | d20xwi1 9 | jEam TeE SUS TG (5 i 5% )

100 |SDR-30 — OPA-100| — S-95 S-26 e VO
11 | i gt s HER NBR
12| wijE RESE
13| iGsEiRE - b
14| fH B
15| s L4 SWP _
16| W& H KA 1 8 =
17| Rz RESE
18 | A8 [ i 448 SCM




MCJT ZH0ER g R ¢12~6100

EE (CRR) wmEREL mindman
o012, 16 d)20,d)25DV
ZAHFI+H7F22 OE1
iy s ]
o ale o i
oy
PA PA | \3EE PA

¢ 12~$ 100 B1THE
(R ETL)

ZAHTEA+47422 @
S+iFH2 S+

X TG fTH2 5 100mm o

PA PA

XITHRRT B —BTiE T2 TR

seklc|p| e |E1|E2[F|G|H][K KK LH N (F5E7L) PA|PB
12 | - | 6 [M5%x08 [163] 23| 5| - | 45) 3 | M3x0.5x7% - 6.5X4.5% » 4.3 » M5X 0.8 X 6% 75|55
16 | - | 8 [M5%x08 [19.8) 28| 6| - | 45| 3 | M4x0.7x7% - 6.5X4.5% » 4.3 > M5X 0.8 X 61 8 [65
20 | 15|10 |[M5%x08 [24 | - | 8|13 | 55| 3 | M5x0.8x10% - 6.5X4.5% » 4.3 M5X 0.8 X 7.5% 75| -
25 |2 |12 |[M5%0.8 [28 | - [10 |17 |6 | 3 | MEX1x10% - 8X 6 » 5.1 M6X 1X9.5% 8 | -
32 | 33|16 |PTU8GEN34 | - [14 | 22| 7 | 3 | M8x1.25x12%% | 485| 8x6%E 51> M6X1X8HE 9 | -
40 | 33|16 [PT1/8GEN40 | - |14 | 28| 7 | 3 | M8x1.25x12% | 565| 10.5X8% 6.9 M8x1.25X 10% 10 | -
50 |4 |20 |PT1/4:2) 48 - 1171389 | 3 M10X1.5X15% | 70 11xX8.5% » 6.9 » M8X1.25 X 10% 10.8| -
63 | 4 | 20 |PT 1/4(:2) 60 - |17 40| 9 | 3 M10X1.5X15% | 83 11X 8.5% » 6.9 » M8X1.25 X 10% 11 -
80 |5 |25 |PT3/8GE3)|74 | - [ 22|45 |11 | 4 | M14x2x20% |102 14x10.5% » 10.5 » M12X1.75x 128 |13 | -
100 |3 |30 [PT38GE3)o0 | - |27 | 45| 9 | 4 | M18x25%20% | 122 18.5X 137 » 12.3 » M14 X 2 X 15% 15 | -
1 RIS E5mmE; » EE=M5X 0.8
52 KRR S5mmE: » EE=PT1/8
2£3 ¢ ANHRTAEBA5mmIE: - EE=PT1/4
ﬁ%ﬁ SRV R S A AP RGR Fffig 2L
IS S ZA S ZA
12 | - | 25|32 (32| 631 | 205|455 255 605
16 | - | 29|38 | 32| 631 | 205 455 30.5| 655
20 | - | 34| - | 32631 | 195]| 445]| 295| 645
25 | - | 40| - | 42| 78[1 [21 |48 |31 | 68
32 |14 | 44| - | 42| 78|1 |24 |55 |34 | 75
40 (14| 52| - | 62103 16| 26.5| 60 | 36.5| 80
50 | 19| 62| - | 6.2[108| 16| 28.6 | 66.2| 386 | 86.2
63 | 20| 75| - | 6.2[108| 16| 325| 74 | 425]| 97
80 | 27| 94| - [ 82[138[16]41 |93 |51 [113
100 | 26 [114| - |102]|17.3|2 |45 |99 |55 [119




	規格
	內部構造
	外觀尺寸

